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(mm) (m) (m) (m) (m) (m) (&pn) | (&P | (EFm | (8D | (8D | (@D | (@D
a 35394 51221 40017 #Bh BHE 250 |TP([gE) 16.80 15.90 16.80 1.80 158 | T-25 BaE 1 0 0 0 0 BATI | 54T 1
b 4666 40017 35206 #Eh BHE 250 |TP([AE) 20.60 19.70 20.60 1.81 242 | T-25 BaE 3 0 0 0 0 BATI | 53471
c 12369 35206 4351 #Eh BHE 250 |TP([gE) 17.40 16.50 17.40 2.47 284 T-25 BiaE 1 0 0 0 0 BATI | 54T 1
d 26049 4351 76014 #Eh BHE 250 |TP([AE) 17.50 16.60 17.50 2.88 318 | T-25 BaE 3 0 0 0 0 BATI | 53471
e 59366 76014 72163 #Eh BHE 250 |TP([gE) 19.00 18.10 19.00 3.27 262 | T-25 BaE 2 0 0 0 0 BATI | 54T 1
f 68469 38390 4351 #Eh BHE 250 |TP([E) 9.00 8.10 9.00 1.08 163 T-14 BaE 0 0 0 1 0 BATI | 53471
g 24185 33373 38657 #Eh BHE 250 |TP([@E) 29.80 28.90 29.80 1.42 147 T-25 BaE 4 0 0 0 0 BATI | 54T 1
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i 74456 9035 9493 #Eh BHE 250 |TP(@E) 29.70 28.80 29.70 1.66 146 | T-25 BaE 0 0 0 0 0 BATI | 54T 1
i 68587 9493 31750 #Eh BHE 250 |TP([AE) 19.00 18.10 19.00 1.52 208 | T-25 BaE 2 0 1 0 0 BATI | 53471
k 23709 10635 18365 #Eh BHE 250 |TP(fgE) 16.50 15.60 16.50 1.45 151 T-25 BaE 0 0 0 0 0 BATI | 54T 1
I 63809 20255 36256 #Eh BHE 250 |TP([E) 21.30 20.40 21.30 1.10 097 | T-25 BaE 0 0 0 0 0 BATI | 53471
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